201285 =04t LBHeIH FE2SA ~

HESAD

o LS

EE3ALY

=
=
NA™Ba 25 &4

Al

A

SN CR(EH) - NRAY - BES

20
B
2

S i 2,271,264 2,246,641
= 35,151
S 8,850
Al 2,227,263
FAFR =& 2,192,880 2,130,295
= 35,151
S 8,850
Al 2,148,879
23 =& &4 165,827 291,027
= 10,560
< 4,350
Al 150,917
2l 323 W= 9,780 69,980
201 224 4,920 4,920
01 AR 2tel] 1,200 1,200
O1 Let=2H] 1,200
DACEES W 29 100,000& «12& 1,200
02 =524 3,720 3,720
O3 Al &HIK A 3,720
DAISIEES WEE usHH KA+
46,500,000 *8/100 3,720
202 044l 3,360 3,360
01 2 LHAbI 3,360 3,360
OABIEEs Ws2d =W
280,000 «128 3,360
301 LB aE 1,500 1,500
10 BAAHIEN S 1,500 1,500
oozal =23t Jalz &4 243
50,000& =30¢! 1,500
2a0tE 29 30,000 30,000
01 €2 10,600 10,600
01 AtR2telH 1,000 1,000
O1 Ler=EH] 1,000
>EZs0ts 22 MA
1,000& *500 #2JH A 1,000
02 3244 9,600 9,600
O3 AIE€&Hl =Xl 9,600
>EZE0tE SHO0IXN RAE+=
400,000 20 A% 12 9,600
202 04l 8,400 8,400
01 S LHAHbI 8,400 8,400
OdEZz=0tE 28 =0 700,000 x12& 8,400




FA: HESHY

N HBSIAIY =&
Sl XYHEG 45 sHa (e
_ _ _ pSNE e
2AH -3 - SH2A(SH) - MEAMY - BHES 0] AFCH ‘Oﬁ,‘;{)‘g Hns
301 LEtB A= 5,000 5,000 0
10 AR HIEA 2 5,000 5,000 0
OXE3 24012 #x 0ot
100, 000& 1021 *23| 2,000
O&E350lS A & o|tlE &A
100, 000& * 102! *33] 3,000
307 QI2t01 A 6,000 6,000 0
02 QI2tEAAMNE X 6,000 6,000 0
OXE30IS F20|24HEH 29|
500,000& x12& 6,000
ESHOIX 29 57,250 122,250 65,000
201 2 et2HH| 52,210 37,210 15,000
01 AtR2t2|d| 16,000 1,000 15,000
O1 LBt=2H]| 16,000
>=HOIX & HE= A==
1,000,000& x14] 1,000
>EHOIX BBLES AZENH 2
15,000,000& * 14 15,000
02 S32gH| 36,210 36,210 0
O12222 2 AMA 780
D>EMHOIX AYE0l AHIA Ol
660, 000& 14! 660
DEHO AISE 30,000& *4= 120
O3 Al &H|l || 35,430
>RFAl EHOIX S/W KAEZ=H]
137, 400,000%*15/100 20,610
D>E-book AIZ2EE 2 S/W R XL 44|
18, 800 000& *15/100 2,820
D BF2AIOIHAIZ 2 S/W S X 24|
80,000,000 *15/100 12,000
202 o4 Hl 5,040 5,040 0
01 2| 5,040 5,040 0
OZHOIX 2% =AY 420,000& =128 5,040
38302 =4 29,360 29,360 0
= 10,560
Al 18,800
307 QI2t0| & 29,360 29,360 0
= 10,560
Al 18,800
02 OI2tE3AME X 29,360 29,360 0
OAZF0IS T2 82| A 12|
14,680,000& *202I 29,360
= 10,560
Al 18,800




FA: HESHY

Mo HEsiAY XA
ol MARPE AT B (e a2
_ _ _ AT
2N -3 - c2(3H) - NEME - HES Ol &F2H loﬂ/l\_Fo” HunsZ
ANOIEBSNE 29 36,200 36,200 0
== 4,350
Al 31,850
201 L Et2HY| 36,200 36,200 0
= 4,350
Al 31,850
01 AR 22/l 36,200 36,200 0
O1 det=2H| 16,200
DAICIASESI = 1Y 4,500& *3,600H 16,200
= 2,000
Al 14,200
O3 2894 20,000
>HR0IBAL BALY
25,0003 *20 Al 2+ *403] 20,000
= 2,350
Al 17,650
S22 3230 =E 3,237 3,237 0
201 L2 HH| 3,237 3,237 0
02 3=2%H| 3,237 3,237 0
O3 A& &Hl FAIYI 3,237
DABSWNEE NEEH RAESE
40,455,000 %8/100 3,237
NEHES Jlet 2= 104,937 11,477 6,540
NSEHEGAR’G 29 1,820 1,820 0
201 L EtEHY| 1,820 1,820 0
01 AR 22|l 1,820 1,820 0
O3 294 1,820
DASEHEIRJAG FEAHYH
70,000& x13021%23| 1,820
AEEQ0 MASH 79,700 75,000 4,700
201 L Et2HY| 79,700 75,000 4,700
01 AR 22/l 79,700 75,000 4,700
O1 Yetx=Z2H| 79,700
>MS-office AZTEN P&
240,000& *300H 72,000
>AUTOCAD MAP &2+ &1801E & JIs=XI2(
Subscription 2Ol &lA) 700,000 * 114 7,700
d20/124dH 29 13,417 13,417 0
201 LBr2 S| 13,417 13,417 0
02 S32gH| 13,417 13,417 0
O3 Al &Hl || 13,417
DEBOIEMH HH FAIES
8,470& x1320H*12& 13,417




SN

X ZH
o=

D HESANY =X
= g

HESH

NEEEEEE

B . M. CHe (5 NEAY . B2 Al OH HEE Hl =2+
HEJBEAOE U= 10,000 21,240 211,240
207 A ROH | 10,000 0 10,000
02 & AHHEHI 10,000 0 10,000
OEEGE MHEE HE= B2
200,000 *50& 10,000
HEZHES I8t 3t 1,110,815 879,117 231,698
= 24,591
Al 1,086,224
P HEg =84 1,600 1,300 300
303 EAZ 1,600 1,300 300
01 ZA3 1,600 1,300 300
OB2E HEXAL 3l HOl AL
400,000& #4021 1,600
HEFE AMAEH 2 74,469 175,666 A101,197
201 B2 HH| 49,469 55,666 ANG6,197
02 2224l 49,469 55,666 A6, 197
O3 A& ZHIR Xt 49,469
DI SRAIAE S/W = XIE==HI
29,823,280& *15/100 4,474
DoAY BRAIAE H/W 2 X228l
22,166,720 *8/100 1,774
D EAAARA 2OHEH S|
500,000& =12& 6,000
DU-MAA SHAZ2RIAMHIA OlEZ
600,000& x12& 7,200
DEAM ANH SFAE=(AMEHOIXL 188)
354,475,000& *8/100 28,358
DAY SIW=XEx=
19,000,000& *7/12& *15/100 1,663
405 KHaHE SH| 25,000 0 25,000
01 AL =S HSHI 25,000 0 25,000
OZHtY HOIERIOl #*=5 25,000,000 *14] 25,000
3280 9)|s tHyl&Z3t 108,361 57,361 51,000
201 B2 HH| 75,361 57,361 18,000
01 AR 2teld| 63,000 45,000 18,000
O1 Let+=ZH| 63,000
DEA ATEQN FL(1E 2toldlA)
20,0003 =1,5007H 30,000
DPCHQIZE 2L AZEQO R (1 20l
HA) 10,000 *1,5000H4 15,000
DHEM XAE AT AZE HAY
12,0002 *1,5000H4 18,000
02 E==2gHl 12,361 12,361 0




SN
X XH .
S Tt

ok

0% 02 02

2S&
ZetAtY =&
HE 23 JletH gt

_ _ _ N E
SN H - SR(EH) - NPAMY - BES 0] &F o o HlE2
O3 A& &Hl= Al 12,361
PUERZD L3E RIE=+
14,570,000 *8/100 1,166
DEULXAIAL(IPS) FRE=
24,800,000 *8/100 1,984
DAAM X E4Hl 38,000,000 *15/100 5,700
DIHQIAEE REXE AAEH X2 =4
43,880,000 *8/100 3,511
405 XtatE =S| 33,000 0 33,000
01 ML =SZHSHI 33,000 0 33,000
OUERZ st 2 33,000,000 * 14! 33,000
ANz 23 SSIIEAAE 2 123,186 107,334 15,852
201 get2Ad| 21,355 18,855 2,500
01 A2 2t2ldl 2,500 0 2,500
O1 gegr=EH] 2,500
>SS0S ctoldA RU(RL+HEZP/GS)
2,500, 000& 14 2,500
02 2324l 18,855 18,855 0
O3 A& &Hl S Xldl 18,855
DMSZEAAE SWRAES
96,500,000& *15/100 14,475
DESEHIIE 2l AIAE RXE=s
29,200,000& *15/100 4,380
202 (48l 5,040 5,040 0
01 LA 5,040 5,040 0
OZ3J18 ANAE2E IO
420,000& 123 5,040
403 KX SHS =01 & 96,791 83,439 13,352
02 SISOl CHSHCH & AL I 96,791 83,439 13,352
ONYXXSHEES ASAY MA3H (HE
HE HAEH RX)  1,382,717,4902+7/100 96,791
JIE2tel AlA" 2 600, 180 263,337 336,843
201 24 48,860 60,500 211,640
01 AtR2teld 38,660 50,300 A11,640
O1 git=EH| 36,000
DIESEELIHEZSHN L2 MEXE
EEH) 3,000,000 * 14| 3,000
PIIE2 A=A 3,000,000 * 14! 3,000
DY2tA QIMER(ZSEAX 2 88)
50,000 *300&4 15,000
DCOXE eI A2F(0tAE 1002,23 2
007H) 15,000,000& * 14| 15,000
03 2g+g 2,660




A RSN
F: HESAY =
ool HEEFE3 I8 (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
= = FAG - BES &5 Ofl & 04 ree
DEESIHAQS 3oFHLH
70,000& *321%103] 2,100
DEE3NuE ARLAZ
70,0003 *121+23| 140
PIOIESEIY 2z &A=
70,0003 #2021 +33] 420
02 2324l 10,200 10,200 0
O1 2222 2 AHA 4,200
PEXYS REZ 350,000 «12& 4,200
O3 A8 &Hdl =Xl 6,000
De2tAl ZHISABI(2IMI204F)
4,000, 000& 14 4,000
DIISEMAE AHAA ZUHIKXUI(EAM L
SHEANY, pc, ZRIH, M)
2,000,000 14 2,000
202 (44l 6,720 6,720 0
01 =2 AbI 6,720 6,720 0
OJIE2e] =&l 560,000& «12& 6,720
303 &=z 3,400 3,400 0
01 Z&3 3,400 3,400 0
OJIE2eR+8AM L& 3,400
>z 800, 000& 12 A 800
> 700, 000& 2% A 1,400
> & 600, 000& 2= A 1,200
307 2I2toI ™ 55,200 55,200 0
05 BIZtRIE 3 55,200 55,200 0
O2MHEs 29| 2,300,000 »2CH«12& 55,200
405 RHekF S HI 486,000 26,000 460,000
01 XML EEHSHI 486,000 26,000 460,000
OIS 22l E & 486,000,000& *14! 486,000
HTUEZA AIAE 29 107,794 107,794 0
201 et2Ad| 107,794 107,794 0
02 E=2ZHl 107,794 107,794 0
O3 A& &l Sl 107,794
DRZZAIAE SXIE=(H/W)
140,000,0002 *8/100*1.1 12,320
DREZAIAE SXIE=(S/W)
60,119,440 x15/100% 1. 1 9,920
DEUGZMAIAE RKE == (H/W)
516,270,280& *8/100%1. 1 45,432
DEXZMAIAE 2T E2(S/W)
216,378,240 *15/100%1.1 35,703




SN BEEAD
S HESAIY =X
ol BHI P I|UrA S (el &
SMN-HHM .. AHA(SH) - MRAY - BES O AF K dd = Hlw &2
- T - = oS = =5 0:”/&,% Lsa
DREDOAAE ST E4=(S/W)
26,780,000& *15/100*1. 1 4,419
HETNZE 29 13,080 13,080 0
201 L EH2FH| 3,080 3,080 0
01 AR 2teld| 3,080 3,080 0
O1 et=ZH| 2,900
DENMEAFH (2FHEL 6F)
2,000,000 =14 2,000
>DEEI EYH 450,000& 24 900
O6 gxt=z 180
DMHENZY =D X=
15,0003 *1CH+ 12 180
405 KHaHE S H| 10,000 10,000 0
02 SA -l 10,000 10,000 0
SN P 20,000& 5002 10,000
HEFE N&3 82,145 77,020 5,125
= 24,591
Al 57,554
201 B2 | 82,145 77,020 5,125
= 24,591
Al 57,554
01 At 2teltl 82,145 77,020 5,125
06 dxt=z 82,145
DAZT HEFEAAE 2E AX=E
77,020,000 * 14 77,020
= 24,591
Al 52,429
DAZ? HHSZAAE 2E AXz
5,125,000 =14 5,125
B SMAE o=t NEst 811,301 848,674 NG37,373
& 4,500
Al 806,801
HHFE SHY 29 618,974 641,950 N22,976
201 B2 HH| 610,574 633,550 N22,976
01 AR 2teld| 3,360 3,360 0
O1 et=ZH| 3,360
DFAX A2F £ 140,000 *6CH *4 3| 3,360
02 E=2gHl 607,214 630, 190 N22,976
o1 3322 ¢ MA 607,214
PRIEESUL(EH) MEE
5,542, 7202 128 66,513
DEXNTERSHY(2EH SHS AMLD)AEE
450,000 & *393| &+ 12 210,600




SN HESMD
Mz MYESIAIY =&
& dE2SAAIY ol=Z2t N&ES (¢t &
SA - EH .S (BH) - MBAY - B Ofl A o4 dd = HRS2
O & 04
DANECIXNEZ 8EH AIEZ
280,000& 103 & x12& 33,600
DSHZ ME23H AESS(AIEA SHE)
23,2403 *1603| & x12& 44 621
DEaCUY MG AIE S 900,000& x12& 10,800
D>aABINGE A2 2 17,000,000& x12& 204,000
D>OIEUl(ADSL) sl AIEZ
30,000& *533| & x12& 19,080
> 2XHHI Al XI(SMS) AF22 1,500,000« 12& 18,000
202 (4 Hi 8,400 8,400 0
01 2| 8,400 8,400 0
OHEE HESASA ASEBAF 2LHA Y]
700,000& x12& 8,400
SHEEAMAIAE - BHl X222 169,827 175,474 N5,647
201 Let2HH| 162,127 175,474 N13,347
02 S324H| 162,127 175,474 N 13,347
O3 Al &Hl || 162,127
DA SAEH SAH 2,000,000& x12& 24,000
>R & A Xl 573,523,000& *7/100 40,147
>UEKIEH SXHl 290,666,000 *7/100 20,347
DERAAL SXH(BSAALY 9| 45)
746,539,000& *7/100 52,258
DUERZT 2S3HEHl Xl
200,980,000 *7/100 14,069
> AT AAE S|
70,544,000 x7/100 4,939
D>SIAGOAIAE KX
30,947,000 x7/100 2,167
D2XMMMRAEX(UPS) S XlH|
60,000,000& x7/100 4,200
405 XH&HFE S HI 7,700 0 7,700
01 ML 2SS FH SHI 7,700 0 7,700
OFAX 350, 000& *2CH 700
OUE3a A<X 1,400,000& *5CH 7,000
HESA JIBIAIA e & &S 22,500 31,250 A8,750
= 4,500
Al 18,000
402 QI2EAF2 01 ™ 22,500 31,250 A8,750
& 4,500
Al 18,000
01 12t X228 = 22,500 31,250 A8,750
Os0HEXY UYLy 2=
22,500,000& » 14! 22,500
== 4,500




SN RESAD
XN HUsAlY =A
Ol HEBEAAL QT2 DT g CEEE
) _ Hug
2N - FHH..2A(SH) - HIEAMY - BHAS 0| AFCH ioﬂ/ix_FOH Hlw=2
HHl A 18,000
HE A AY| 78,384 116,346 37,962
oSy (HBEA D) 53,315 42,505 10,810
olHe Y (BT 53,315 42,505 10,810
101 Q121H] 53,315 42,505 10,810
01 B 53.315 42,505 10,810
oMo ReAY 8, 07821 %2201 x300A| 2+ 53.315
I2HY (RS EAID) 25,069 28,765 A3.696
IEHH (RESA D) 25,069 28,765 A3.696
201 LBt o | 20,869 20,365 504
01 AL 22 bl 20,344 19,840 504
O1 LBragY| 14,800
PEANSY 28 1,200,0002 * 122 14,400
DHESRE AR 20,0002 *202 400
05 22| 5,544
NI 7,000 2201 %33| +122 5,544
2 2=yl 525 525 0
O1 2222 2 HAl 505
boma2 75021 %2521 122 505
203 2 2= Y| 4,200 4,200 0
P e 4,200 4,200 0
ORMSYADETIY| 350,000 *122 4,200




